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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 2726 3.2 2.1 6 53.1 99.3
2 2738 1.2 1.3 6 20 99.8
3 2349 0.2 0.7 6 4 85.6
4 2729 3.3 1.8 6 55.5 99.5
5 2738 5.5 1.9 8 68.4 99.8
6 2629 2.7 1.6 8 34 95.8
7 2736 1.4 1 4 36.2 99.7
8 2721 3.2 1.3 6 53.8 99.2
9 2610 2.9 2.6 8 36.3 95.1

10 2721 4.5 2.4 8 56.3 99.2
11 2663 2 1.8 6 33.4 97
12 733 1.5 1.7 6 24.6 26.7
13 743 3.5 1.7 6 58.7 27.1
14 714 2.5 2.2 6 42.4 26
15 2073 0.8 0.8 2 37.6 75.5
16 2077 5.7 1.9 7 80.9 75.7
17 2021 1.3 1.5 6 22.1 73.7
18 1978 1.6 1 3 53.9 72.1
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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2. Award up to  2 marks per consideration described  
 
 
How the system will be used 


 What type of applications do users require? / Are the users going to require a wide range of 
applications? 


 Will they need large data storage? / Are they going to store a large number of data files? 


  From where will they operate the network e.g. at home in office or remote access from 
different locations. / Where does the processing get done? 
 


Cost 


 Can the current stock of PC’s and peripherals be used on the new network, or will they have 
to buy more 


 This can include cost of the server, cost of cabling, cost of software and costs of third party 
communications services.  Network maintenance, staffing costs, training costs, any one 
developed.(Award 1 mark for list of three) 
 
Performance in terms of: reliability / user friendliness / capacity / speed of processing 


 Different parts of the organisation may have different performance requirements. 


 Real-time e-commerce system may require greater speeds / capacity / reliability. 
 


Do not credit  just ‘faster networks’ 
 


3x2 


3. Award up to 2 marks for the description  
 
Configuration management is to configuring a network to maximise its performance (1) by 
organising and maintaining all the information about a network (1)  
 
Award 1 mark per Advantage up to a maximum of 4 marks  
 


 It is much easier to repair, expand or upgrade the network 


 The network will run faster as it is optimised 


 Less network downtime due to better management 


 Network security is optimised (constant antivirus updates) 


 It is possible to roll back changes to a previous configuration if changes made to the network 
badly affect its performance 


 It (automatically) keeps records of all the changes made to a network so you do not need to 
write down all the new settings 


 It allows you to future proof your network 
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5 marks 
In paragraph one they gain only 1 mark as they basically do the same thing over and over again by 
describing different actual costs.  In the second paragraph they gain 2 marks as they make the point 
about different parts of the organisation and give an actual example.    In the 3rd paragraph they 
make a point about different applications and a point about location. 
 
 
Sample B 
















 
0 Marks 
Not points on LAN v WAN or budget or small v large jobs.  Security point is too vague 
 
Sample C 
















 
5 marks 
For how the system will be used make points on applications and storage.  They gain a third point for 
a list of three costs. Finally they make a point on real time ecommerce and a point on different parts 
of the organisation. 
 
 
 
Question 3 
Sample A 
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SECTION A


Answer all questions.


Other than on screen help, disabled access and differentiation between user expertise, 
describe three other factors which should be considered when designing a suitable 
human computer interface for use in the workplace.	 [3×2]


Three factors to be considered when a company updates or installs a new network 
are costs, performance and how the system will be used.


For each of these three factors describe two considerations which will influence the 
company’s choice of a new or updated IT network.	 [3×2]


One of the strategies used by a network manager is configuration management. 
Describe in detail what is meant by configuration management and give four positive 
effects from the use of systematic configuration management on the network.	 [6]


An organisation is updating their computer network and consequently are reviewing 
their network topology. Explain what is meant by network topology and, other than 
cost, discuss the relative advantages of ring and star topologies.	 [6]


A multinational company has developed an e-commerce system. Other than it can be 
cheaper to buy goods online, discuss the benefits and drawbacks e-commerce gives 
the company and the customers.	 [8]


There are a number of moral, social and ethical issues associated with the Internet. 
Other than censorship and privacy, discuss the effect that the internet has on 
communities.	 [8]


The use of videoconferencing is becoming more prevalent in modern society.  
Describe briefly two different uses of videoconferencing in medicine and then give 
one advantage and one disadvantage of videoconferencing in general.	 [4]


Explain what is meant by an employee code of conduct and, other than password 
related issues and introducing viruses, describe four potential problems of using ICT 
in the workplace which such a code is designed to prevent.	 [6]


Define what is meant by a Management Information System (MIS) and, other than 
the complexity of the system, describe in detail three factors which can lead to a poor 
MIS.	 [8]


A company is introducing a new ICT system, this will mean that their workers will have 
to cope with a number of changes. Describe four of these changes which are likely 
to be a cause of stress to the workers and also describe the worries that these staff 
may have.	 [8]


Describe what is meant by distributed computing using the Internet and other than 
cost, describe two advantages and two disadvantages of distributed computing.	 [6]
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2. Award up to  2 marks per consideration described  
 
 
How the system will be used 


 What type of applications do users require? / Are the users going to require a wide range of 
applications? 


 Will they need large data storage? / Are they going to store a large number of data files? 


  From where will they operate the network e.g. at home in office or remote access from 
different locations. / Where does the processing get done? 
 


Cost 


 Can the current stock of PC’s and peripherals be used on the new network, or will they have 
to buy more 


 This can include cost of the server, cost of cabling, cost of software and costs of third party 
communications services.  Network maintenance, staffing costs, training costs, any one 
developed.(Award 1 mark for list of three) 
 
Performance in terms of: reliability / user friendliness / capacity / speed of processing 


 Different parts of the organisation may have different performance requirements. 


 Real-time e-commerce system may require greater speeds / capacity / reliability. 
 


Do not credit  just ‘faster networks’ 
 


3x2 


3. Award up to 2 marks for the description  
 
Configuration management is to configuring a network to maximise its performance (1) by 
organising and maintaining all the information about a network (1)  
 
Award 1 mark per Advantage up to a maximum of 4 marks  
 


 It is much easier to repair, expand or upgrade the network 


 The network will run faster as it is optimised 


 Less network downtime due to better management 


 Network security is optimised (constant antivirus updates) 


 It is possible to roll back changes to a previous configuration if changes made to the network 
badly affect its performance 


 It (automatically) keeps records of all the changes made to a network so you do not need to 
write down all the new settings 


 It allows you to future proof your network 
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3 marks 
Definition does not get a mark as it does not maximising the performance of the system.  The second 
paragraph makes a point on rolling back changes.  Third paragraph makes a point machine keeping 
records of changes.  The final paragraph makes a point on being easier to upgrade the network. 
 
 
Sample B 
















 
1 mark 
This candidate makes very vague points but does gain a mark at the very end for constant antivirus 
updates. 
 
 
Sample C 


 
0 marks 
This candidate seems again to be very vague and be talking more on collaboration. 
















 
1 mark 
This candidate makes very vague points but does gain a mark at the very end for constant antivirus 
updates. 
 
 
Sample C 


 
0 marks 
This candidate seems again to be very vague and be talking more on collaboration. 
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SECTION A


Answer all questions.


Other than on screen help, disabled access and differentiation between user expertise, 
describe three other factors which should be considered when designing a suitable 
human computer interface for use in the workplace.	 [3×2]


Three factors to be considered when a company updates or installs a new network 
are costs, performance and how the system will be used.


For each of these three factors describe two considerations which will influence the 
company’s choice of a new or updated IT network.	 [3×2]


One of the strategies used by a network manager is configuration management. 
Describe in detail what is meant by configuration management and give four positive 
effects from the use of systematic configuration management on the network.	 [6]


An organisation is updating their computer network and consequently are reviewing 
their network topology. Explain what is meant by network topology and, other than 
cost, discuss the relative advantages of ring and star topologies.	 [6]


A multinational company has developed an e-commerce system. Other than it can be 
cheaper to buy goods online, discuss the benefits and drawbacks e-commerce gives 
the company and the customers.	 [8]


There are a number of moral, social and ethical issues associated with the Internet. 
Other than censorship and privacy, discuss the effect that the internet has on 
communities.	 [8]


The use of videoconferencing is becoming more prevalent in modern society.  
Describe briefly two different uses of videoconferencing in medicine and then give 
one advantage and one disadvantage of videoconferencing in general.	 [4]


Explain what is meant by an employee code of conduct and, other than password 
related issues and introducing viruses, describe four potential problems of using ICT 
in the workplace which such a code is designed to prevent.	 [6]


Define what is meant by a Management Information System (MIS) and, other than 
the complexity of the system, describe in detail three factors which can lead to a poor 
MIS.	 [8]


A company is introducing a new ICT system, this will mean that their workers will have 
to cope with a number of changes. Describe four of these changes which are likely 
to be a cause of stress to the workers and also describe the worries that these staff 
may have.	 [8]


Describe what is meant by distributed computing using the Internet and other than 
cost, describe two advantages and two disadvantages of distributed computing.	 [6]
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Q Section A Mark scheme Mark 


7. Award up to 2 marks for description 1 mark per use 
 
Award  1 mark per advantage  
Award  1 mark per disadvantage 
 
Use (MEDICINE or NEUTRAL) 


 Providing a link between patient, doctor and interpreter for those patients who cannot speak 
English 


 Helping patients who live in rural locations who find it difficult to come to hospital. 


 Training medical staff, staff can learn from experts quickly without spending times attending 
courses a long way away/ Get expert help whilst an operation is under way 


 Expert consultation with specialists who might not be available in your local area/ Give 
patient a provisional diagnosis from an expert 


 For regional meetings where staff would normally have to travel   


 Doctors in one hospital can show burns victims and the specialist doctors in burns centres 
can study them and plan the operations and pre-treatment required before the patient has to 
travel to the specialist unit for reconstructive surgery. 


 Doctors can set up meetings with face to face communication between people who are not in 
the same room, building or even country. This means doctors in remote location or doctors 
without travel money can learn about new developments from each other 


 Not just consult around the globe OR can do it anytime anywhere 
 
Advantages (up to 1) 


 Much cheaper as they do not have to pay for transport costs/accommodation for employees 


 Experts not wasting time travelling 


 Meetings can be called at short notice without too much planning 


 Short meetings can be conducted where it would not be feasible for people to travel long 
distances for such short meetings 


 Allows staff to attend meeting while out of the country /on holiday 


 Can give you a better visual image of the product/ skin disease 


 General facial expressions/ body language can be seen over the telephone 
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Q Section A Mark scheme Mark 


 Disadvantages (up to 1) 
 


Factor Possible expansions Not to be credited  


COST: - The cost of specialist/dedicated 
(videoconferencing) equipment is 
expensive to buy/install / maintain 


- Cost of videoconferencing equipment 
- ‘Cost of digital cameras /microphones 


etc. was expensive’……..  so there is an 
implied extra cost to the standard system 
 


Not just ‘cost of 
equipment.’ 


QUALITY: - Although documents and diagrams in 
digital form can be passed around, an 
actual component cannot; 


- Cannot feel the quality of materials. 
- Physical nuances/body language can be 


missed. 


Not if given as an 
advantage 


SIGNAL - Poor image and sound quality (Must be 
qualified) e.g. restricted bandwidth/failure 
of connection/buffering/lag  


- Image quality is seldom as you would get 
with a TV, owing to have to compress and 
decompress signals over the 
communication link  


- Need for a good/strong/fast internet 
connection for it to work 
 


Not just unqualified 
 ‘poor internet or 
poor broadband 
signal’ 


 
Do not credit :  


 problems due to time zones 


 work life balance 


 self-conscious 
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Question 7 
Sample A 


 


 
2 marks 
The two examples of use are very vague and do not make points such as rural location.  Calling 
meetings at short notice is a good advantage and the cost of the specialist equipment is a good 
disadvantage. 
 
 
Sample B 
















2 marks 


Again the 2 uses are a little vague the 2nd one is almost there but doesn’t make any points on who is 


helping or where they are.  Both the advantage and disadvantage are fine. 


Sample C 




















 


 
 
1 mark 
 
Both uses are far too general.  The advantage about travelling is fine but the disadvantage is a little 
vague. 
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SECTION A


Answer all questions.


Other than on screen help, disabled access and differentiation between user expertise, 
describe three other factors which should be considered when designing a suitable 
human computer interface for use in the workplace.	 [3×2]


Three factors to be considered when a company updates or installs a new network 
are costs, performance and how the system will be used.


For each of these three factors describe two considerations which will influence the 
company’s choice of a new or updated IT network.	 [3×2]


One of the strategies used by a network manager is configuration management. 
Describe in detail what is meant by configuration management and give four positive 
effects from the use of systematic configuration management on the network.	 [6]


An organisation is updating their computer network and consequently are reviewing 
their network topology. Explain what is meant by network topology and, other than 
cost, discuss the relative advantages of ring and star topologies.	 [6]


A multinational company has developed an e-commerce system. Other than it can be 
cheaper to buy goods online, discuss the benefits and drawbacks e-commerce gives 
the company and the customers.	 [8]


There are a number of moral, social and ethical issues associated with the Internet. 
Other than censorship and privacy, discuss the effect that the internet has on 
communities.	 [8]


The use of videoconferencing is becoming more prevalent in modern society.  
Describe briefly two different uses of videoconferencing in medicine and then give 
one advantage and one disadvantage of videoconferencing in general.	 [4]


Explain what is meant by an employee code of conduct and, other than password 
related issues and introducing viruses, describe four potential problems of using ICT 
in the workplace which such a code is designed to prevent.	 [6]


Define what is meant by a Management Information System (MIS) and, other than 
the complexity of the system, describe in detail three factors which can lead to a poor 
MIS.	 [8]


A company is introducing a new ICT system, this will mean that their workers will have 
to cope with a number of changes. Describe four of these changes which are likely 
to be a cause of stress to the workers and also describe the worries that these staff 
may have.	 [8]


Describe what is meant by distributed computing using the Internet and other than 
cost, describe two advantages and two disadvantages of distributed computing.	 [6]
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